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1303 104130 4.1 5004 INE HZ 7654 =HXIT} 243 Az ohHl
1302 104085 4.1 304 Fd+ & 12629 =TTt &+EH ZALoH Tl
1301 104131 4.1 200 F84 [H& 12858 =HXIT}; Az ohHl
1300 104086 4.1 2004 NE & 12869 =Xt &3 A1l
1299 104140 4.1 5004 ey YT S A A2|ohHl
1298 | 104188 4.1 50CH s+ [H& 12958 =HEIT}E 23 ZAIohHl
1297 104038 4.1 2004 ER HAF385TH =HXITH Az ohHl
1296 | 103619 3.31 2004 43 Ad|GH Tl
1295 103595 3.31 2004 R & 12865 =TIt £4+EH ZA2IoH T
1294 | 103577 | 3.31 20[H e [H& 1286 =HEITE 23 AJohHl
1293 103618 3.31 2004 INE & 12665 =TIt 23 Z2IoH T
1292 | 103592 @ 3.31 20[H F8+ [H& 12669 =HEITE 23 A2|ohHl

ZJ1E 01" 570 =HEITF 2

1291 | 103633 | 3.31 60CH s+ 21 A2IohHl
1290 | 103497 @ 3.31 20CH F8+ [H& 1285 =HXIXt 2 ZA2IoHT
1289 | 103422 | 3.31 20CH s+ [H& 1286 =HEIT; 23 ZJohHl
1288 | 103423 | 3.31 20CH s+ [H& 12864 =HXIXt 2 ZA2IoHH
1287 | 103519 | 3.31 20CH s+ [H& 1286 2HEIT}; 3 Al ohHl
1286 | 102863 & 3.30 20CH s+ A2IoH
1285 | 103076 & 3.30 20CH Fd+ Al ohHl
1284 | 102795 | 3.30 20LH F84 AIoH
1283 | 102615 | 3.30 20CH M+ [H& 12579 2HEITE 23 Al ohHl
1282 | 102765 | 3.30 20CH =+ [HE 12528 =XIXt 2 AIoHH
1281 | 102861 3.30 20CH M+ [H& 12594 =tXITt 2 Al ohHl
1280 | 102621 3.30 20CH M+ AloHH
1279 | 102577 | 3.29 100 F8+ H& 121289 =HEITE 23 AJohHl
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1277 102579 3.29 20CH ER [HE 12688 =HXIT} 2He Z 2o Hl
1276 | 102580 3.29 20CH M3 3 717H =T 23 ZJohHl
1275 | 102569 & 3.29 20[H M+ [HE 1262 =HXIT} 2He Z 2o Ml
1274 | 102570 3.29 20CH M+ [H& 1268 =TIt 2E ZlohHl
1273 | 102568 & 3.29 20[H M+ [HE 1268 =HZIT} 2He Z 2o Ml
1272 | 102545 3.29 20CH e+ [H& 1268 =Xt 2E ZJohHl
=EN
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